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Check substitution results:

nxl = nl-a2+n2-a+n3

nx2 :=2-a-nl+n2-a2+2-a-n3+n2
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nx3:=nl+4+a-n2+n3-a

dxl:=dl-a’+d2-a+d3

dx2 =2-a-dl+d2-a’+d2+2-a-d3

dx3 = dl+d2-a+d3-a°
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Lowpass Shelving Filter

nxl = 2.405
nx2 =-5.822
nx3 = 3.697
dxl =1.969
dx2 =-5.402
dx3 = 4.553
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Calculate Same for Upper Shelf
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Check substitution results:

le:=<nl-a24—n2-a-+n3
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Dxl :=dl-a +d2-a+d3
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Highpass Shelving Filter
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QXkk = PXkk ' Rxkk
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00 = nx1-Nx1

ol :=nx2-Nx1 —nx1-Nx2

02 :=nx3-Nx1 —nx2-Nx2 +nxl-Nx3
03 :=nx2-Nx3 —nx3-Nx2

04 = nx3-Nx3

B0 := dx1-Dx1

Bl := dx2-Dx1 —dx1-Dx2
B2 := dx3-Dx1 —dx2-Dx2 + dx1-Dx3
B3 := dx2-Dx3 —dx3:Dx2
B4 := dx3-Dx3
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